(B#1)

1 BEARGREFEA) k% A2K-SHA% SEEMER) (A, %)

SF6EE SH5EE 12 iE A 1R R
1 E 51,689 1 47,524 4,165 8.8
2 =R 14,358 2 13,053 1,305 10.0
3 KR 10,874 3 10,151 723 7.1
4 EE 7,831 5 6,780 1,051 15.5
5 12 7,728 4 7,341 387 5.3
6 Z5 5,591 6 5,556 35 0.6
7 FE= 4,456 7 3,455 1,001 29.0
8 dtiEE 3,682 8 3,419 263 7.7
9 s 3,361 9 3,330 31 0.9
10 L EI 3,326 11 3,059 267 8.7
EJE] 149,407 138,357 11,050 8.0
(BE)VRKDPEBZEBOSTAEEETOHE (N

R4 R3 R2 R1
3,050 3,260 3,301 3,591

2 HEERBEES (A, %)

SF6EE SH5EE 12 1R R
1 = 539 1 628 A 89 A 142
2 AVERLT 402 3 393 9 2.3
3 Syv— 384 6 164 220 134.1
4 BE 373 2 479 A 106 A 221
5 24 236 4 240 A 4 A 17
6 AL 219 5 214 5 2.3
7 NUY5Fa 169 7 126 43 34.1
8 AYSoh 157 8 118 39 33.1
9 RIN—)L 114 10 96 18 18.8
ELTI)L 90 12 65 25 38.5

EH2%2 R

3 AO10FAH-YEZES (ERERFRAD

(RF-RZRE-ERAF-BFEMPR)

(A. %)

SH6EE SHISEE 12 iE A IS
1 = 569.8 1 514.9 54.9 10.7
2 L 364.6 2 337.4 27.2 8.1
3 e 309.8 3 303.8 6.0 2.0
4 ITET] 173.7 4 158.3 15.4 9.7
5 HE 158.0 11 114.1 43.9 38.5
6 Al 155.4 6 140.4 15.0 10.7
7 12 151.8 5 143.9 7.9 55
8 EE 146.7 7 126.3 20.4 16.2
9 [Ii]=] 137.2 9 120.4 16.8 14.0
10 [Ealil 128.0 8 121.7 6.3 5.2
£EFH 120.7 111.3 9.4 8.4
(BE)VKPBEAOI0BAL-YBLERDSTAEEETTOHTS (N)

R4 R3 R2 R1

AO10F A ZFY 276.7 292.6 293.4 316.4

(BB E T IR IR L) (3431) (2431) (3431) (31i1)
4 KRENFSEH(LEH) (N)

THIEE TRSEE EPE
1 EREXE 5,562 1 5,560 2
2 N 4,793 2 4,658 135
3 SMEERE 3,258 3 3,027 231
4 RERK 2,791 4 2,844 A 53
5 SMETFOTAEEKRTE 2,776 6 2,662 114
6 BAZEFKRE 2,675 9 2,334 341
7 KR KE 2,595 5 2,712 A 117
8 LM KE 2,568 7 2,526 42
9 E N 2,470 19 1,669 801
10 FEKRE 2,337 8 2,342 A5




(BH2)

(BE) SI6EE KD EDE - #hish 5l B2 4 £ (AN)
JIE 132 = - #hig B EhL = - #hig %) B4 = - #hig B2
1 |h[E 539] 32 |[HEE 6] 62 [Fza 2
2 |[AVFERLT 402 32 |ASH ol 62 |mo7 2
3 |Zvw— 384l 39 |S5AR 5] 62 |SRET 2
4 |EEE 373 39 [ILo% 5 76 | U7 1
5 |24 236 39 |74>— 51 76 |[/1R5T)L 1
6 |NbkFLs 219] 39 |[FIILEXX 5| 76 |45 1
7 |\ S5Ta 169] 39 [#UFRAHEL 5| 716 |[FoA=R42 1
8 |RUZ2h 157 44 [T—%> al 76 |)N\—L—> 1
I E A 114] 44 [®Owa 4 716 |R—H 1
10 [EVTIL 9o 44 |HAHUHE 4 76 |Faz=T7F 1
AR 85| 44 |XT0A 4 76 |HAKR 1
12 |BE 82| 44 |VU=\)7 4l 76 |[HET 1
13 |Z7AHERE 46| 44 |[®EHUE—4H a4l 76 |ERAHIL 1
14 |RL—7F 37| 44 |[HUET 4 76 |FIET 1
15 |24EY 321 44 [FoA 4] 76 | RyDo+ 1
16 [ ARZZRAY 30] 44 |Roxz—T> a4l 76 |[LYk 1
17 |95R 27 44 99054+ 4 716 [JILXFT7Y 1
18 [/INFREY 20| 44 |[ATFIRE 4 76 |>TSLAR 1
19 [AUROT7 19| 55 [P2/\TJxT 3l 76 |IF 1
20 [AoY=7F 14] 55 |INTF7Za—F%=7 3| 76 [2HyoRL 7 1
21 |r=7 12| 55 [/85#4 3 76 |[UF7TRS 1
22 |[(13)7 11] 55 |VOEVEE 3] 76 [3x%)AH 1
23 | A¥FTO 10] 55 |RJ)L— 31 76 |IN\SHTFA 1
24 |V HR—IL ol 55 | E7F 3l 716 |[7PILEVFY 1
24 |47 9] 55 |[Fow—4 3l 76 |RRXxTS 1
24 |YR)F 9] 62 [ETsE—IL 2l 76 |[/8F+< 1
27 |45 7| 62 |FILEFY 2l 76 |/NngF 1
271 |H—7 7| 62 | dREHMNE 2l 18 [RpLx— 1
27 | UET7IHIE 7l 62 |a—FIAHRT—IL 2l 76 | 4% 1
27 |52 7| 62 |TRDTF4=FH 2l 76 |R—5 K 1
27 |k4Y 71 62 |A—R+SUT7 2l 76 JIL—==7 1
32 |TOTh sl 62 [F1) 2l 716 |JHYT7 1
32 |IFAET 6] 62 |/RUET 2l 16 [R)L— 1
32 (@7 IUA 6] 62 |[THF7EIL 2] 76 |FILOAZRBL 1
2 |hF+E 6] 62 |/)LyT— 2| . e

2 |9 oSoF il o2 [F—=rJ7 o ¢ 1064 [ - hisf 3,361




